Maths -- Grade 3
Topic: Numbers (Expanded form)

Revision exercises ( Check your answers )

1. I write the correct numeral.

H T U HTU
Example: 3 hundreds, 4 tens and 2 units = 3 4 2
HTU
a) 1hundred, 5 tensand 8 units= 1 5 8
HTU
b) 6 hundreds, 3 tens and 9 units=6 3 9
HTU
c) 5 hundreds, 4 tensand 1 unit=5 4 1
HTU
d) 2 tens, 4 unitsand 7 hundreds =7 2 4
HTU
e) 6 units, 8 hundredsand 2 tens=8 2 6
HTU
f) 7 hundreds and 4 tens=7 4 O

HTU
g) 2 hundredsand 5units=2 0 5



2. I match with the correct numeral.

An example has been done for you.

H T U HTU
[ 200 + 50 + 4 1 28
700 + 30 + 2 6 04
100 + 20 + 8 \\ 326
900 + 10 \£254
6 + 300 + 20 7 32
4 + 600 910
3. I write the missing number.
H T U HTU
a) 700+60+__3 = 7 63
H T U HTU
b) 5 hundreds + 4 tens+2units=542
T H U HTU
c) 20 +100+5=125
U T H HTU
d) 8units+7tens+_2 hundreds=2738
U H T HTU

e) 4+__900 +50=954
2




